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Mock Test 15

National Urban Information system (NUIS) intends to

#21213

1. Create an urban GIS database with the help of satellite images and aerial photography

2. Connect all major port cities with high speed underwater cable network

Which of the above is/are correct?

A. lonly B. 2 only C.Both1land2 D. None
Consider the following about National Legal Services Authority (NALSA).

1. It is a statutory body.

2. It provides for free legal aid to the poor and weaker sections of the society.

3. It appoints judges of Gram Nyalayas in consultation with the District Judge.

4. It also organises Lok Adalats for amicable settlement of disputes.

Select the correct answer using the codes below.

A.1,2and 4 only B. 2 and 4 only C.land 3only D.1,2,3and 4
Photochemical smog has recently become a major problem in cities like New Delhi. Which of the
following is/are crucial for the formation of Photochemical smog in the atmosphere?

A. Sunlight B. Volatile organic compounds C. Tropospheric ozone D. All of the above
The term "Arctic Shelf"" is often used to refer to

A. Oil and gas deposits B. Major fishing zones

C. Large ice-free docking areas D. Continental shelves

The expenditure ‘made’ from the Consolidated Fund of India CANNOT be

1. Discussed and voted by the Parliament 2. Considered as a part of the appropriation bill
Which of the above is/are correct?

A.1only B. 2 only C.Both 1and 2 D. None

Aravallis in Rajasthan and Srisailam forests in Andhra Pradesh are known for hosting

A. Uranium mines B. Gold mines C. Diamond mines D. Platinum mines

A report titled “Strengthening Forest Fire Management in India”, jointly prepared by the MoEFCC

and the World Bank, has been released.

1. Central India has the largest area affected by fire.

2. Forest fires occur in over two-thirds of the country’s 647 districts every year.

3. India aims to increase its forest cover by 50 million hectares, as part of India’s National Action Plan on
Climate Change.

Select the correct answer using the codes below.

A. lonly B. 2 and 3 only C.3only D.1land 2 only

Which of the following correctly bring(s) out the difference between a National Park and a Biosphere

Reserve?

1. National Park is designated for the conservation of a particular species only, whereas Biosphere
Reserves conserve a host of plants and species.

2. National Parks are aimed at conserving the cultural heritage of the region in-situ, whereas Biosphere
Reserves conserve the landscape as a whole.

Which of the above is/are correct?

A.1lonly B. 2 only C.Bothland?2 D. None

Consider the following about Manganese Nodules found in the Ocean.

1. They are generally found within shells floating at the sea surface along with phytoplankton.

2. They mainly contain manganese, cobalt, nickel and copper.

3. Crude oil is extracted from these nodules in the Indian Ocean.

Select the correct answer using the codes below.

A.2only B. 1only C.1and 3only D. 2 and 3 only

Consider the following statements. Assertion (A): In some parts of Southern India, Kharif crops can

be grown during any period in the year. Reason (R): Southern India receives continuous but light

rainfall throughout the year.

In the context of the above, which of these is correct?

A. Aiis correct, and R is an appropriate explanation of A.

B. Ais correct, but R is not an appropriate explanation of A.

C. Ais correct, but R is incorrect.

D. Both A and R are incorrect.



